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I ’n mwn: an unsuccessful field
a  If: the v R doesn’t want to work the field anymore as it isn’t producing, but it can produce enough for one 3, he is obli-
gated to continue working it
i Reason: that’s the wording of mo»xr 70w (“I will plow, plant, harvest, bale, thresh etc.”)
ii  Dissent (/11777 73): this isn’t a MW (no ratio); rather, if it makes enough to seed for next season, must work
b Analysis of 71v¥: enough to make a >
i XPan92°0v 1 :enough to stand up the threshing shovel
1 Question: what if it protrudes on both sides
2 Answer: the “receiver” of the shovel doesn’t see the sun
i 753 pro
iii A7 772272 NRO — (excluding the expenses involved; i.e. 2 nXo of profit)
II Tangent: other areas of na%n where similar disputes re: n 11w appear
a YR nrmv: “poor” olives (lit. “wicked” olives, as per vv.1-2) — v”a maintain have 8", n"a disagree
i 7w 8™ -4 ap of oil per beam of pressing; 'Ry 1227 -2 nR (12 1p) per pressing
1 Note: no disagreement; if they press 1 113 of olives or if they press 3 112
b ar nkmv: if a ar and Mnv go up a weak tree or weak branch together — 1900 becomes ®nv (he’s moved by ar)
i TPV
1 Tree:if the root isn’t big enough to carve out a ya11 ma
2 Branch: if it can be enclosed ina fist
¢ v1an ma nrmo: if he walks on weak stones (which move) or a weak person or animal — Xnv
i I
1 Weak person: if you ride on him and his knees touch
2 Weak animal: if riding on him causes defecation
d  Addition: for p»am n»an —4 ypap
i 7157017, if one is saying n%an and he has a load of more than 4 pap, must put it down; else, he can throw it over his back
ii ~ p%7om if someone is carrying a load of 4 1’ap on his head and his "%»’on are getting crunched, 11ox
1 Tangent: if someone is carrying manure on his head, he should tie his 9"wn on his arm (y>an Dpn)
(a) But not: around his hips or on the side of his head (11r2)
(b) Dissent: X>w "1 72 — may not have anything on his head if he’s wearing ">’an — even smallest coin of Xn»1ma
III  Analysis of 11> 7's dissent:
a 7w (enough to resow):
i pN 7 (in name of 13NV 1) — 4 NRo of seed per N3
ii N "7 (on his own): 8 NRO per NI
1 Explanation: in 130y "1’s time, land was fertile
b Associated ruling (R:/7 7x89): if the wind spread the sheaves (and the poor are deprived of vp%)
i p’m we estimate how much it could’ve produced and give to o7y
ii  J7awr we give n»01 011
1 7w 4 pap per Mo
(@) Question: is that a sown 713 or a harvested M3?
(i) Answer: sown M3
(b) Question: sown by hand or by oxen? yp'n
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